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MATHEMATICS
CLASS XII
Time: 3 Hours




        



              Max Marks: 100
GENERAL INSTRUCTIONS 

For Part A
Question numbers 1 to 8 are of 3 marks each
Questions number 9 to 15 are of 4 marks each
Questions number 16 to 18 are of 6marks each 
For Part C
Question numbers 19 to22 are of 3 marks each

Questions number 23 to 25 are of 4 marks each
Questions number 26 is of 6 marks 
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Part A
1. Find the value of  
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2. Using properties of determinants prove that:
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3. In a family the husband tells a lie in 30% cases and wife in 35% cases .Find the                    probability that both contradict each other on the same fact.
4. One number is chosen from number’s 1 to 200.Find the probability that it is divisible by 4 or 6?
5. Evaluate    
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6. Evaluate  
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7. Solve the differential equation: 
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8. Solve the differential equation: 
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9. Simplify the Boolean expression: (i) 
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10. Find 
[image: image12.wmf]1

2

2

tan3

tan2tan3

lim

tan4tan3

x

xx

xx

-

®

--

-+


11. If 
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12. Differentiate from first principle 
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13. Find the points on the curve 
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14. Evaluate :    
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15. Evaluate :     
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16. Solve the following system of equations 
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17. A square piece of tin of side 24 cm is to be made into a box without top by cutting a square from each corner and folding up the flaps to form a box. What should be the side to be cut off so that the volume of the box is maximum? Also find maximum volume.
18. Find the area of the region enclosed between the two circles 
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Part C
19. A bill drawn on 4th Feb. 1999 at four months after date was discounted on 26th March 1999 at 4% per annum .If the bank discount is Rs.100, find the amount for which bill was drawn.
20. The difference between true and banker’s discount on a bill due after 3 months at 5% interest is Rs 100. Find (1) True Discount (2) The face value of the bill. 
21. In a bolt factory, machines X, Y and Z manufacture respectively 20%, 35% and 45% of the total bolts. Of their output 4%, 3% and 2% are respectively defective bolts. A bolt is drawn random from the product. If the bolt drawn is found to be defective, what is the probability that the machine Y manufactures it? 
22. If X follows a binomial distribution with mean 4 and variance 2, find 
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23. A man buys a computer for Rs 70000 on the following condition. He will pay Rs. 10000 cash down and the balance in 10 equal quarterly Installments. Calculate the amount of each installment, interest being calculated at the rate of 5% p.a. compounded quarterly.
[image: image26.wmf](

)

10

1.01250.8831

-

=


24. X,Y, and Z  are partners in a business with capitals of Rs.5000 ,Rs 6000 and Rs 4000.X gets 20% of profit for management and the balance is divided in proportion to their capitals .At the end of the year X gets Rs 200 less than Y and Z together .Find the total profit and share of each. 

25. A supplier charges packing cost of Rs. 620 for a digital diary on order of 50 or less set. The charge is reduced by Rs. 5 per set if the order exceeds 50. Find the optimal number of digital diary order, the supplier should allow so as to receive maximum revenue.
26. A manufacture produces two types of steel trunks. He has two machines A and B. The first type of the trunk requires 3 hours on machines A and 3 hours on machines B and second type of the trunk requires 3 hours on machines A 2 hours on machine B. Machines A and B are run daily for 18 hours and 15 hours respectively. There is a profit of Rs. 30 on the first type Rs.25 on second type of the trunk. How many trunks of each type should be produced and sold to make maximum profit?
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